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Next night

Beef | Lamb | Chicken | Pork

Beef | 50% | 20% | 10% | 20%

First | Lamb | 10% | 60% | 20% | 10%
night | Chicken | 10% | 40% | 30% | 20%
Pork | 20% | 10% | 10% | 60%

b S=[56 45 39 60]

The transition matrix is
05 02 01 02
01 06 02 0.1
01 04 03 02
02 01 01 06
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Rounding to the nearestserve,there will be 18 beef meals, 60 lamb meals, 32 chicken
meals, and 60 pork meas served in the first week afer the initial survey.

W Using technology,

The state mairix for the ifth week s
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Rounding to the nearest serve,there will be 43 beef meals, 8 lamb meals, 33 chicken
meals, and 56 pork meals served in the fifth week aficr the inital survey.

We have assumed that the transition condiions remain constant from ek to week, and

that the number of patrons at the club is constant each week.
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i The value 0.2 in row 2, column 3 of T2 represents the probability of someone having
b this week. and chicken in two weeks' tim.

So, the probability that Eugene will have chicken in two weeks”

e is02





image3.png
W find dho siady site proportons by examining T s (i G T
e 821200072 0.3432
We caleulate T using technology. Saad b

0:3136868673 0. 343
0213 0313 0165 0276 0-2120885672 0.3432
0203 0313 0165 0276
0213 0343 0168 0276
0213 0343 0165 0276

The stcady saic proportions are that spproximatcly 21.3% of seniors choose.
beet, approximately 31.3% choose lamb, approximatcly 16.87% choose chicken, and.
approximately 27 6% choose pork.





